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Name Date Period
Unit 6 Review
If you use the TVM solver make sure you write down what you put into the cale
1. Richard is putting money into savings account. He is putting 6,000 into a savings account with a 5.5%
interest rahc compounded monthly for 40 years. How much will he have in 40 ycars?
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2. Alfred wants to have ?00.000 in 50 years. How much will he need to put in if he has a CD with 3.2%
interest compounded monthly?
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3. What does TOTAL COST mean?
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4. Selina and Bruce are buying a house for 175,000. They can either have a 15 year mortgage or a 30 year
mortgage. The interest rate that their bank is giving them is 4.5%

a. What would the monthly payment be on a 15 year mortgage?
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b. N ¥Zuld be the monthly payment on a 30 year mortgage?
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c. What is the TOTAL COST of the 15 year mortgage?
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4240, 473,20
d. What is the TOTAL COST of the 30 year mortgage?
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5. Pamela has a lot of credit card debt. Below are her current balances on her credit cards. Calculate the
minimum payment for each if she wants to have them paid off in 2 years

~Chase $10,562 at 29.99 % APR S4¢ §¢ N=24
~Visa $3,401 at 23.99% APR 1149 8¢

~MasterCard $12,209 at 11.5 % APR 571.8 7
~BP gas card $1,997 at 20.99% APR 102.6 |

~Discover $5,355 at 18.99% APR 26Q .9\




The previous balance on Harvey’s credit card is $4,321. He spent $534 this month and paid off $243.

a. What is his end of month balance?
b24s3y -243 = §46I1
b. His APR is 29.99%. What is his monthly periodic rate?
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¢. What is his finance charge for this month?
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d. What is his new balance? (end of the month balance + the [inance charge)
4612 +n1S36 > HUT727.30

e. His minimum payment is 3.7% of his end of month balance (without finance charge). What is his
minimum payment? '
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f. If he only pays the minimum payment and does not spend anymore how many months (or years) will it

take him_to pay off his credit card?
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g. How much would he need to pay per month to pay off his credit card in 2 years?
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h. Harvey’s annual salary’is 21,000. His taxes are 22.65% and his total monthly expenses are $950. If he
chooses to pay the amount from part g, how much money will he have left over each month for food and
personal things? What options would you give Harvey to be able to have more money at the end of the

month? Z1000 =17 = |"7Se(.2266)= 34(.2% 750-34(L.3% =

1353.627 950~ 170.64 - 932.4%" Geci4 Nteorizci
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Viktor is buying a new car. He is going to buy a new-Cadillac Escalade for $61,598. He has two options. If he

buys the car he must pay a 10% down payment over 3 years at a 4.9% interest rate. What would be his monthly

payment if he chooses to buy the car?  ¢),548( 10)* 86‘\ S9.80 pasn pymee b 528
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WFI%TTS tﬁg total cost of the car if he assumes he can sell back the car for $28,874?

16S4.04 *3( + 61S4.80 = 3&(05,‘6&5.21-28 87y =
; $32011.2y

The other option is to lease the car. If he leases the car the monthly payment is $709 for 3 years with $1,999
due at signing. What is the total cost of the car if he leases it?

/

Which option (Buy or Lease) would you pick and why?
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Unit 6 Quiz Review

Peyton has just been offered two jobs

® The first job is an account manager job with an annual salary of $48,500
e The second job is a sales associate job which makes an hourly wage of $26.50. (Assume the sales

associate works an average 40 hour work week)
(Show ALL WORK!!)

Account Manager

Sales Associate

§46,Soo

1. | Annual Salary
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Annual Salary ;t 55', )76

Account Manager

Sales Associate

Y48 soo ~ (1L

Pre-Tax Monthly Salary " 404/ [.69
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Pre-Tax Monthly Salary 4"/ 54 3 . 3;

Each job requires taxes to be taken out. Assume all taxes come to 32.65%

Account Manager

Sales Associate
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- 1444.77

Post-Tax Monthly Salary _ $§3047>. 6|

Peyton knows he is going to need 10 vacation days and 3 sick days., He also wants Health insurance,

Life insurance and to pay into his retirement plan

* The associate manager job gives him,10 vacation days and S sick days. Health insurance is $120 a

month, life insurance is $45 a month and his retirement is 3.5% of his post-tax monthly salary

» The sales associate job giveg 5 vacation days ang no sick dayg. Health Insurance is $140 a month,
life insurance is $40, and retirément is 5110 each month.

4.| Account Manager

Sales Associate

Vacation

(
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Sick Days

Health Insurance =\ (5
Life Insurance 4§
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Take Home Monthly Salary
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Take Home Monthly Salary
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5. Which job would you recommend Peyton take? Why?
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Jennifer just received a graduation gift of $2,500 from her grandparents. She decided to put the money in a

saving account. She is receiving a 3.15% interest rate that is compounded quarterly.
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7. Fill out the following table showing how much money Jennifer has each of the given years.

Year

Balance

952"
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Joam.\c plans to retire in 20 years, and wants to have $500,000 saved by the time she retires. Her bank is
offering her a 3.9% interest rate that is compounded monthly.

8. PV Formula **with above information 509:300:- PV (l* 1z
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9. How much does Joanne need to put away right now to have the $500,000 when sh¢ retires?
$229,yq3.0%

Joanne’s friend David realized he needed to start saving for retirement too. He plans on retiring in 25 years, and
also wants to have $500,000 saved up. He has 3 options:
e A savings account earning 3.5% compounded monthly
e A Roth IRA eaming 3.75% compounded quarterly

e A money market account earning 2.5% compounded annually.

10.
Savings Account Roth IRA Money Market

Formula N: 300 N IO N 2
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How much principal
does he need?

$20% 646.63
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424 000084

#264 695,24

11. Which account would you suggest for David and why?
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